# HOMOMORPHISMS AND DERIVATIONS OF A GENERALIZED ADDITIVE FUNCTIONAL EQUATION

M.ARUNKUMAR $^1,$ E. SATHYA $^2,$ P. DIVYAKUMARI $^3$ 

<sup>1</sup>Department of Mathematics, Government Arts College, Tiruvannamalai - 606 603, TamilNadu, India. <sup>2</sup> drarun4maths@gmail.com <sup>2</sup>Department of Mathematics, Shanmuga Industries Arts and Science College, Tiruvannamalai - 606 603, TamilNadu, India. <sup>2</sup> sathya24mathematics@gmail.com <sup>3</sup>Department of Mathematics, Don Bosco College, Yelagiri Hills, Tirupattur District - 635 853, TamilNadu, India. <sup>3</sup> divyakumarishc@gmail.com

ABSTRACT. In this paper, we introduce and investigate the generalized Ulam - Hyers stability of homomorphisms and derivations of a generalized additive functional equation in Banach, Quasi - Banach,  $C^*$ , Lie  $C^*$ , Jordan  $C^*$  Algebras.

#### 1. INTRODUCTION

In Ulam [26] proposed the general Ulam stability problem: When is it true that by slightly changing the hypotheses of a theorem one can still assert that the thesis of the theorem remains true or approximately true? In Hyers [7] gave the first affirmative answer to the question of Ulam for additive functional equations on Banach spaces. Hyers result has since then seen many significant generalizations, both in terms of the control condition used to define the concept of approximate solution one can see [2, 5, 17, 21, 23].

One of the most famous functional equation is the additive functional equation

$$\lambda(u+v) = \lambda(u) + \lambda(v) \tag{1}$$

having solution  $\lambda(u) = cu$ . This functional equation was first treated by A.M. Legendre (1791) and C.F. Gauss (1809). In 1821, it was first solved by A.L. Cauchy in the class of continuous real-valued functions. It is often called an Cauchy additive functional equation in honor of A.L. Cauchy [1, 8].

In this paper, we introduce and investigate the generalized Ulam - Hyers stability of homomorphisms and derivations of a generalized additive functional equation

$$\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) = (\alpha + \beta)(\lambda(u) + \lambda(v))$$
(2)

<sup>2010</sup> Mathematics Subject Classification. :39B52, 39B72, 39B82.

Key words and phrases. :Functional equation, Generalized Hyers-Ulam stability, Banach Algebras, Quasi - Banach Algebras,  $C^*$  Algebras, Lie  $C^*$  Algebras, Jordan  $C^*$  Algebras.

where  $\alpha, \beta \neq 0$  in Banach, Quasi - Banach,  $C^*$ , Lie  $C^*$ , Jordan  $C^*$ , Algebras. Now, we provide the general solution of the functional equation (2).

**Theorem 1.** Assume  $V_1$  and  $V_2$  are real vector spaces. Suppose that  $\lambda : V_1 \to V_2$  satisfies the functional equation (1) then  $\lambda : V_1 \to V_2$  satisfies the functional equation (2).

During the last seven decades the stability problems of various functional equations in several algebras have been broadly investigated by number of mathematicians and more detail's about the definitions on all the algebras see [3, 4, 6, 9, 10, 11, 12, 13, 14, 15, 16, 18, 19, 20, 22, 24, 25]. In each sections, we give basic definitions about algebras and prove the generalized Ulam - Hyers stability of homomorphisms and derivations with respect to that algebras.

### 2. Stability Results in Banach Algebras

### 2.1. Banach Algebra Definitions.

**Definition 2.** A complex Banach space A is said to be a **Banach algebra** if it satisfies the condition

$$||xy|| \le C||x||||y||$$

for all  $x, y \in A$ .

**Definition 3.** Let A and B be real Banach algebras. A mapping  $H : A \to B$  is called a **algebra** homomorphism if

$$H(xy) = H(x)H(y)$$

for all  $x, y \in A$ .

**Definition 4.** Let A and B be real Banach algebras. A  $D : A \to A$  is called a **algebra derivation** if

$$D(xy) = D(x)y + xD(y)$$

for all  $x, y \in A$ .

In order to establish the stability results, throughout this section let us assume  $\mathcal{A}$  is a Banach algebra with norm  $|| \cdot ||_A$  and  $\mathcal{B}$  is a Banach algebra with norm  $|| \cdot ||_B$ .

### 2.2. Homomorphism Stability Result.

**Theorem 5.** If  $\lambda : \mathcal{A} \to \mathcal{B}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(1)

$$\|\lambda(uv) - \lambda(u) - \lambda(v)\|_{\mathcal{B}} \le \eta(u, v) \tag{2}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(3)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{4}$$

Then there exists a unique homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi = \frac{1-\nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(5)

and the mapping  $\mathcal{H}(u)$  is defined by

$$\mathcal{H}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{6}$$

for all  $u \in \mathcal{A}$ .

*Proof.* Assume  $\nu = 1$ . Letting (u, v) by (u, u) in (1), we arrive

$$\|2\lambda((\alpha+\beta)u) - 2(\alpha+\beta)\lambda(u)\|_{\mathcal{B}} \le \eta(u,u) \Longrightarrow \|\lambda(\gamma u) - \gamma\lambda(u)\|_{\mathcal{B}} \le \frac{1}{2}\eta(u,u)$$
(7)

for all  $u \in \mathcal{A}$ . It follows from above inequality that

$$\left\|\frac{\lambda(\gamma u)}{\gamma} - \lambda(u)\right\|_{\mathcal{B}} \le \frac{1}{2\gamma}\eta(u, u) \tag{8}$$

for all  $u \in \mathcal{A}$ . Now replacing u by  $\gamma u$  and dividing by  $\gamma$  in (8), we obtain

$$\left\|\frac{\lambda(\gamma^2 u)}{\gamma^2} - \frac{\lambda(\gamma u)}{\gamma}\right\|_{\mathcal{B}} \le \frac{1}{2\gamma^2}\eta(\gamma u, \gamma u) \tag{9}$$

for all  $u \in \mathcal{A}$ . From (8) and (9), we get

$$\left\|\frac{\lambda(\gamma^2 u)}{\gamma^2} - \lambda(u)\right\|_{\mathcal{B}} \le \frac{1}{2\gamma} \left[\eta(u, u) + \frac{\eta(\gamma u, \gamma u)}{\gamma}\right]$$
(10)

for all  $u \in \mathcal{A}$ . Proceeding further and using induction on a positive integer  $\delta$ , we have

$$\left\|\frac{\lambda(\gamma^{\delta}u)}{\gamma^{\delta}} - \lambda(u)\right\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi=0}^{\delta-1} \frac{1}{\gamma^{\chi}} \eta(\gamma^{\chi}u, \gamma^{\chi}u)$$
(11)

for all  $u \in \mathcal{A}$ . It is easy to verify that the sequence

$$\bigg\{\frac{\lambda(\gamma^{\delta}u)}{\gamma^{\delta}}\bigg\},$$

is a Cauchy sequence by replacing u by  $\gamma^{\epsilon} u$  and dividing by  $\gamma^{\epsilon}$  in (11), for any  $\epsilon, \delta > 0$ . Since  $\mathcal{B}$  is complete, there exists a mapping  $\mathcal{H}(u) : \mathcal{A} \to \mathcal{B}$  such that

$$\mathcal{H}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta}} \lambda(\gamma^{\delta} u), \quad for \quad all \quad u \in \mathcal{A}.$$

Letting  $\delta \to \infty$  in (11), we see that (5) holds for all  $u \in \mathcal{A}$ . To show that  $\mathcal{H}$  satisfies (2), replacing (u, v) by  $(\gamma^{\delta} u, \gamma^{\delta} v)$  and dividing by  $\gamma^{\delta}$  in (1), we obtain

$$\frac{1}{\gamma^{\delta}} \left\| \lambda(\gamma^{\delta}(\alpha u + \beta v)) + \lambda(\gamma^{\delta}(\beta u + \alpha v)) - (\alpha + \beta)(\lambda(\gamma^{\delta} u) + \lambda(\gamma^{\delta} v)) \right\|_{\mathcal{B}} \frac{1}{\gamma^{n}} \eta(\gamma^{\delta} u, \gamma^{\delta} v)$$

for all  $u, v \in \mathcal{A}$ . Letting  $\delta \to \infty$  in the above inequality and using the definition of  $\mathcal{H}(u)$ , we see that

$$\mathcal{H}(\alpha u + \beta v) + \mathcal{H}(\beta u + \alpha v) = (\alpha + \beta)(\mathcal{H}(u) + \mathcal{H}(v)).$$
  
51

Thus the existence of  $\mathcal{H}$  satisfies the additive functional equation (2) for all  $u, v \in \mathcal{A}$ . From (2) and definition of  $\mathcal{H}$ , we achieve

$$\begin{split} \|\mathcal{H}(uv) - \mathcal{H}(u)\mathcal{H}(v)\|_{\mathcal{B}} &= \frac{1}{\gamma^{2\delta}} \left\|\lambda(\gamma^{\delta}u \ \gamma^{\delta}v) - \lambda(\gamma^{\delta}u)\lambda(\gamma^{\delta}v)\right\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{2\delta}}\eta(\gamma^{\delta}u,\gamma^{\delta}v) \to 0 \quad as \ \delta \to \infty. \end{split}$$

Therefore

$$\mathcal{H}(uv) = \mathcal{H}(u)\mathcal{H}(v)$$

for all  $u, v \in \mathcal{A}$ . Thus,  $\mathcal{H}$  is a algebra homomorphism. To prove existence of  $\mathcal{H}$  is unique, we assume  $\mathcal{H}'(u)$  be another homomorphism mapping satisfying (2) and (4), then

$$\begin{split} \|\mathcal{H}(u) - \mathcal{H}'(u)\|_{\mathcal{B}} &= \frac{1}{\gamma^{\epsilon}} \, \|\mathcal{H}(\gamma^{\epsilon}u) - \mathcal{H}'(\gamma^{\epsilon}u)\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{\epsilon}} \left\{ \|\mathcal{H}(\gamma^{\epsilon}u) - \lambda(\gamma^{\epsilon}u)\|_{\mathcal{B}} + \|\lambda(\gamma^{n}u) - \mathcal{H}'(\gamma^{n}u)\|_{\mathcal{B}} \right\} \\ &\leq \frac{2}{2\gamma} \sum_{\chi=0}^{\infty} \frac{1}{\gamma^{(\delta+\epsilon)}} \eta(\gamma^{\delta+\epsilon}u, \gamma^{\delta+\epsilon}u) \\ &\to 0 \quad as \ \delta \to \infty \end{split}$$

for all  $u \in \mathcal{A}$ . Hence  $\mathcal{H}$  is unique. Thus the theorem holds for  $\nu = 1$ .

Letting u by  $\frac{u}{\gamma}$  in (7), we get

$$\left\|\lambda(u) - \gamma\lambda\left(\frac{u}{\gamma}\right)\right\|_{\mathcal{B}} \le \frac{1}{2}\eta\left(\frac{u}{\gamma}, \frac{u}{\gamma}\right) \tag{12}$$

for all  $u \in \mathcal{A}$ . Again setting u by  $\frac{u}{\gamma}$  and multiply by  $\gamma$  in (12), we obtain

$$\left\|\gamma\lambda\left(\frac{u}{\gamma}\right) - \gamma^{2}\lambda\left(\frac{u}{\gamma^{2}}\right)\right\|_{\mathcal{B}} \leq \frac{\gamma}{2}\eta\left(\frac{u}{\gamma^{2}}, \frac{u}{\gamma^{2}}\right)$$
(13)

for all  $u \in \mathcal{A}$ . From (12) and (13), we achieve

$$\left\|\lambda(u) - \gamma^2 \lambda\left(\frac{u}{\gamma^2}\right)\right\|_{\mathcal{B}} \le \frac{1}{2} \left[\eta\left(\frac{u}{\gamma}, \frac{u}{\gamma}\right) + \gamma \eta\left(\frac{u}{\gamma^2}, \frac{u}{\gamma^2}\right)\right]$$
(14)

for all  $u \in \mathcal{A}$ . Proceeding further and using induction on a positive integer  $\delta$ , we have

$$\left\|\lambda(u) - \gamma^{\delta}\lambda\left(\frac{u}{\gamma^{\delta}}\right)\right\|_{\mathcal{B}} \le \frac{1}{2}\sum_{\chi=1}^{\delta}\gamma^{\delta-1}\eta\left(\frac{u}{\gamma^{\delta}}, \frac{u}{\gamma^{\delta}}\right) = \frac{1}{2\gamma}\sum_{\chi=1}^{\delta}\gamma^{\delta}\eta\left(\frac{u}{\gamma^{\delta}}, \frac{u}{\gamma^{\delta}}\right)$$
(15)

for all  $u \in A$ . The rest of the proof is similar lines to that of case  $\nu = 1$ . Thus, the theorem holds for  $\nu = -1$ . This completes the proof of the theorem.

The following corollary is an immediate consequence of Theorem 5 concerning some stabilities of (2).

**Corollary 1.** Suppose  $\lambda : \mathcal{A} \to \mathcal{B}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\left\| \lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \right\|_{\mathcal{B}} \\ \|\lambda(uv) - \lambda(u) - \lambda(v)\|_{\mathcal{B}} \right\} \leq \begin{cases} \pi, \\ \pi \left\{ ||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi} \right\}, \\ \pi \left\| |u||_{\mathcal{A}}^{\varpi} ||v||_{\mathcal{A}}^{\varpi}, \end{cases}$$
(16)

for all  $u, v \in A$ . Then there exists a unique homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, \\ \frac{\pi||u||_{\mathcal{A}}^{\omega}}{2|\gamma-\gamma^{\omega}|}, & \varpi \neq 1 \\ \frac{\pi||u||_{\mathcal{A}}^{2\omega}}{2|\gamma-\gamma^{2\omega}|}, & 2\varpi \neq 1 \end{cases}$$
(17)

for all  $u \in \mathcal{A}$ .

# 2.3. Derivation Stability Result.

**Theorem 6.** If  $\lambda : \mathcal{A} \to \mathcal{A}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(18)

$$\|\lambda(uv) - u\lambda(v) - \lambda(u)v\|_{\mathcal{B}} \le \eta(u, v) \tag{19}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(20)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{21}$$

Then there exists a unique derivation function  $\mathcal{D}: \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi = \frac{1-\nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(22)

and the mapping  $\mathcal{D}(u)$  is defined by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u)$$
(23)

for all  $u \in \mathcal{A}$ .

*Proof.* By the proof of Theorem 5, there exists a unique additive mapping  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying (22). Also, the mapping  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  given by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta}} \lambda(\gamma^{\delta} u)$$

for all  $u \in \mathcal{A}$ .

From (19) and by definition of  $\mathcal{D}$ , we achieve

$$\begin{split} \|\mathcal{D}(uv) - u\mathcal{D}(v) - \mathcal{D}(u)v\|_{\mathcal{B}} &= \frac{1}{\gamma^{2\delta}} \left\|\lambda(\gamma^{\delta}u \ \gamma^{\delta}v) - \gamma^{\delta}u\lambda(\gamma^{\delta}v) - \lambda(\gamma^{\delta}u)\gamma^{\delta}v\right\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{2\delta}}\eta(\gamma^{\delta}u, \gamma^{\delta}v) \to 0 \quad as \ \delta \to \infty. \end{split}$$

Therefore

$$\mathcal{D}(uv) = u\mathcal{D}(v) + \mathcal{D}(u)v$$

for all  $u, v \in \mathcal{A}$ . Thus,  $\mathcal{D}$  is a algebra derivation.

The following corollary is an immediate consequence of Theorem 6 concerning some stabilities of (2).

**Corollary 2.** Suppose  $\lambda : \mathcal{A} \to \mathcal{A}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\left\| \lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \right\|_{\mathcal{B}} \\ \left\| \lambda(uv) - u\lambda(v) - \lambda(u)v \right\|_{\mathcal{B}} \right\} \leq \begin{cases} \pi, \\ \pi \{ ||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi} \}, \\ \pi ||u||_{\mathcal{A}}^{\varpi} ||v||_{\mathcal{A}}^{\varpi}, \end{cases}$$
(24)

for all  $u, v \in A$ . Then there exists a unique derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(25)

for all  $u \in \mathcal{A}$ .

### 3. Stability Results in Quasi - Banach Algebras

## 3.1. Quasi - Banach Algebra Definitions.

**Definition 7.** Let X be a linear space over  $\mathbb{K}$ . A quasi norm is a real-valued function on X satisfying the following:

- $(QB1) \parallel x \parallel \ge 0$  for all  $u \in X$  and  $\parallel x \parallel = 0$  if and only if u = 0.
- $(QB2) \parallel \rho x \parallel = \mid \rho \mid . \parallel x \parallel \text{ for all } \rho \in \mathbb{K} \text{ and all } u \in X.$
- (QB3) There is a constant  $K \ge 1$  such that  $||x + y|| \le K(||x|| + ||y||)$  for all  $u, y \in X$ .

The pair  $(X, \|\cdot\|)$  is called **quasi normed space** if  $\|\cdot\|$  is a quasi norm on X. The smallest possible K is called the modulus of concavity of  $\|\cdot\|$ .

Definition 8. A quasi Banach space is a complete quasi normed space.

**Definition 9.** A quasi normed space X is called a **quasi normed algebra** if there is a constant C such that

$$||xy|| \le C||x||||y||$$

for all  $u, y \in X$ .

**Definition 10.** Let A and B be quasi normed algebra. A mapping  $H : A \to B$  is called a algebra homomorphism if

$$H(xy) = H(x)H(y)$$

for all  $u, y \in A$ .

**Definition 11.** Let A and B be quasi normed algebra. A mapping  $D: A \to A$  is called a derivation if

$$D(xy) = D(x)y + xD(y)$$

for all  $u, y \in A$ .

In order to establish the stability results, throughout this section let us assume  $\mathcal{A}$  is a quasi norm algebra with norm  $|| \cdot ||_A$  and  $\mathcal{B}$  is a quasi Banach algebra with norm  $|| \cdot ||_B$ .

### 3.2. Homomorphism Stability Result.

**Theorem 12.** If  $\lambda : \mathcal{A} \to \mathcal{B}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(1)

$$\|\lambda(uv) - \lambda(u) - \lambda(v)\|_{\mathcal{B}} \le \eta(u, v) \tag{2}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(3)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{4}$$

Then there exists a unique homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \le \frac{K^{\delta - 1}}{2\gamma} \sum_{\chi = \frac{1 - \nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu} u, \gamma^{\chi\nu} u)}{\gamma^{\chi\nu}}$$
(5)

and the mapping  $\mathcal{H}(u)$  is defined by

$$\mathcal{H}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{6}$$

for all  $u \in \mathcal{A}$ .

*Proof.* Assume  $\nu = 1$ . Letting (u, v) by (u, u) in (1), we arrive

$$\|2\lambda((\alpha+\beta)u) - 2(\alpha+\beta)\lambda(u)\|_{\mathcal{B}} \le \eta(u,u) \Longrightarrow \|\lambda(\gamma u) - \gamma\lambda(u)\|_{\mathcal{B}} \le \frac{1}{2}\eta(u,u)$$
(7)

for all  $u \in \mathcal{A}$ . It follows from above inequality that

$$\left\|\frac{\lambda(\gamma u)}{\gamma} - \lambda(u)\right\|_{\mathcal{B}} \le \frac{1}{2\gamma}\eta(u, u) \tag{8}$$

for all  $u \in \mathcal{A}$ . Now replacing u by  $\gamma u$  and dividing by  $\gamma$  in (8), we obtain

$$\left\|\frac{\lambda(\gamma^2 u)}{\gamma^2} - \frac{\lambda(\gamma u)}{\gamma}\right\|_{\mathcal{B}} \le \frac{1}{2\gamma^2}\eta(\gamma u, \gamma u) \tag{9}$$

for all  $u \in \mathcal{A}$ . From (8) and (9), we get

$$\left\|\frac{\lambda(\gamma^2 u)}{\gamma^2} - \lambda(u)\right\|_{\mathcal{B}} \le \frac{K}{2\gamma} \left[\eta(u, u) + \frac{\eta(\gamma u, \gamma u)}{\gamma}\right]$$
(10)

for all  $u \in \mathcal{A}$ . Proceeding further and using induction on a positive integer  $\delta$ , we have

$$\left\|\frac{\lambda(\gamma^{\delta}u)}{\gamma^{\delta}} - \lambda(u)\right\|_{\mathcal{B}} \le \frac{K^{\delta-1}}{2\gamma} \sum_{\chi=0}^{\delta-1} \frac{1}{\gamma^{\chi}} \eta(\gamma^{\chi}u, \gamma^{\chi}u)$$
(11)

for all  $u \in A$ . The rest of the proof is similar lines to that of Theorem 5. This completes the proof of the Theorem.

The following corollary is an immediate consequence of Theorem 12 concerning some stabilities of (2).

**Corollary 3.** Suppose  $\lambda : \mathcal{A} \to \mathcal{B}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$+ \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \|_{\mathcal{B}}$$

$$= \begin{cases} \pi, \\ \pi \{ ||u||_{\mathcal{A}}^{\widetilde{\omega}} + ||v||_{\mathcal{A}}^{\widetilde{\omega}} \}, \\ \pi ||u||_{\mathcal{A}}^{\widetilde{\omega}} ||v||_{\mathcal{A}}^{\widetilde{\omega}}, \end{cases}$$

$$(12)$$

for all  $u, v \in A$ . Then there exists a unique homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{K^{\delta-1}\pi}{2|1-\gamma|}, & \\ \frac{K^{\delta-1}\pi||u||_{\mathcal{A}}^{\varpi}}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{K^{\delta-1}\pi||u||_{\mathcal{A}}^{2\varpi}}{2|\gamma-\gamma^{2\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(13)

for all  $u \in \mathcal{A}$ .

 $\|\lambda(\alpha u)\|$ 

#### 3.3. Derivation Stability Result.

**Theorem 13.** If  $\lambda : \mathcal{A} \to \mathcal{A}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(14)

$$\|\lambda(uv) - u\lambda(v) - \lambda(u)v\|_{\mathcal{B}} \le \eta(u, v) \tag{15}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(16)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{17}$$

Then there exists a unique derivation function  $\mathcal{D}: \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \le \frac{K^{\delta - 1}}{2\gamma} \sum_{\chi = \frac{1 - \nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu} u, \gamma^{\chi\nu} u)}{\gamma^{\chi\nu}}$$
(18)

and the mapping  $\mathcal{D}(u)$  is defined by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{19}$$

for all  $u \in \mathcal{A}$ .

*Proof.* The proof is similar lines to that of Theorem 6.

The following corollary is an immediate consequence of Theorem 13 concerning some stabilities of (2).

## **Corollary 4.** Suppose $\lambda : \mathcal{A} \to \mathcal{A}$ be a mapping and there exists real numbers $\pi$ and $\varpi$ such that

$$\left\| \lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \right\|_{\mathcal{B}} \\ \left\| \lambda(uv) - u\lambda(v) - \lambda(u)v \right\|_{\mathcal{B}} \right\} \leq \begin{cases} \pi, \\ \pi \left\{ ||u||_{\mathcal{A}}^{\infty} + ||v||_{\mathcal{A}}^{\infty} \right\}, \\ \pi \left\| |u||_{\mathcal{A}}^{\infty} ||v||_{\mathcal{A}}^{\infty}, \end{cases}$$
(20)

for all  $u, v \in A$ . Then there exists a unique derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{K^{\delta-1}\pi}{2|1-\gamma|}, \\ \frac{K^{\delta-1}\pi||u||_{\mathcal{A}}^{\varpi}}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{K^{\delta-1}\pi||u||_{\mathcal{A}}^{2\varpi}}{2|\gamma-\gamma^{2\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(21)

for all  $u \in \mathcal{A}$ .

# 4. Stability Results in $C^*$ Algebras

# 4.1. $C^*$ -Algebra Definitions.

**Definition 14.** A Banach algebra A is said to be a  $C^*$ - algebra if it satisfies the involution condition

$$f(x^*) = f(x)^*$$

for all  $u \in A$ .

**Definition 15.** Let A and B be  $C^*$ - algebras. A mapping  $H : A \to B$  is called a  $C^*$ -algebra homomorphism if

$$H(xy) = H(x)H(y)$$

for all  $u, y \in A$ .

**Definition 16.** Let A and B be  $C^*$ - algebras. A mapping  $D: A \to A$  is called a  $C^*$ -algebra derivation if

$$D(xy) = D(x)y + xD(y)$$

for all  $u, y \in A$ .

In order to establish the stability results, throughout this section let us assume  $\mathcal{A}$  is a  $C^*$ -algebra with norm  $|| \cdot ||_A$  and  $\mathcal{B}$  is a  $C^*$ - algebra with norm  $|| \cdot ||_B$ .

# 4.2. Homomorphism Stability Result.

**Theorem 17.** If  $\lambda : \mathcal{A} \to \mathcal{B}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the triple inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(1)

$$\|\lambda(uv) - \lambda(u) - \lambda(v)\|_{\mathcal{B}} \le \eta(u, v) \tag{2}$$

$$\|\lambda(u^*) - \lambda(u)^*\|_{\mathcal{B}} \le \eta(u) \tag{3}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u)$$
(4)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{5}$$

Then there exists a unique  $C^*$  – algebra homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi = \frac{1-\nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(6)

and the mapping  $\mathcal{H}(u)$  is defined by

$$\mathcal{H}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{7}$$

for all  $u \in \mathcal{A}$ .

*Proof.* By the proof of Theorem 5, there exists a unique homomorphism mapping  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying (6). From (3) and definition of  $\mathcal{H}$ , we achieve

$$\begin{aligned} \left\| \mathcal{H}(u^*) - \mathcal{H}(u)^* \right\|_{\mathcal{B}} &= \frac{1}{\gamma^{\delta}} \left\| \lambda(\gamma^{\delta} u^*) - \lambda(\gamma^{\delta} u)^* \right\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{\delta}} \eta(\gamma^{\delta} u) \to 0 \quad as \ \delta \to \infty \end{aligned}$$

Therefore

$$\mathcal{H}(u^*) = \mathcal{H}(u)^*$$

for all  $u \in \mathcal{A}$ . Thus,  $\mathcal{H}$  is a  $C^*$ -algebra homomorphism.

The following corollary is an immediate consequence of Theorem 17 concerning some stabilities of (2).

**Corollary 5.** Suppose  $\lambda : \mathcal{A} \to \mathcal{B}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\left\| \lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \right\|_{\mathcal{B}} \\ \left\| \lambda(uv) - \lambda(u) - \lambda(v) \right\|_{\mathcal{B}} \end{cases} \leq \begin{cases} \pi, \\ \pi \left\{ ||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi} \right\}, \\ \pi \left\| |u||_{\mathcal{A}}^{\varpi} ||v||_{\mathcal{A}}^{\varpi}, \end{cases}$$
(8)

and

$$\begin{aligned} \|\lambda(u^*) - \lambda(u)^*\|_{\mathcal{B}} &\leq \pi ||u||_{\mathcal{A}}^{\varpi} \\ & 58 \end{aligned}$$
(9)

for all  $u, v \in A$ . Then there exists a unique  $C^*$ - algebra homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$ satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(10)

for all  $u \in \mathcal{A}$ .

# 4.3. Derivation Stability Result.

**Theorem 18.** If  $\lambda : \mathcal{A} \to \mathcal{A}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the triple inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(11)

$$\|\lambda(uv) - u\lambda(v) - \lambda(u)v\|_{\mathcal{B}} \le \eta(u, v) \tag{12}$$

$$\|\lambda(u^*) - \lambda(u)^*\|_{\mathcal{B}} \le \eta(u) \tag{13}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(14)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta.$$
 (15)

Then there exists a unique  $C^*$ - algebra derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi = \frac{1-\nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(16)

and the mapping  $\mathcal{D}(u)$  is defined by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{17}$$

for all  $u \in \mathcal{A}$ .

*Proof.* The proof is similar lines to that of Theorem 6.

The following corollary is an immediate consequence of Theorem 18 concerning some stabilities of (2).

**Corollary 6.** Suppose  $\lambda : \mathcal{A} \to \mathcal{A}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \\ \|\lambda(uv) - u\lambda(v) - \lambda(u)v\|_{\mathcal{B}} \ \ \} \leq \left\{ \begin{array}{l} \pi, \\ \pi\{||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi}\}, \\ \pi \|u||_{\mathcal{A}}^{\varpi} \|v||_{\mathcal{A}}^{\varpi}, \end{array} \right.$$
(18)

and

$$\begin{aligned} \|\lambda(u^*) - \lambda(u)^*\|_{\mathcal{B}} &\leq \pi ||u||_{\mathcal{A}}^{\varpi} \\ 59 \end{aligned}$$
(19)

for all  $u, v \in A$ . Then there exists a unique  $C^*$ - algebra derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(20)

for all  $u \in \mathcal{A}$ .

5. Stability Results in Lie  $C^*$  Algebras

# 5.1. Lie $C^*$ -Algebra Definitions.

**Definition 19.** A  $C^*$ - algebra A endowed with the Lie product

$$[x,y] = \frac{(xy - yx)}{2}$$

on A, is called a Lie  $C^*$ -algebra for all  $u, y \in A$ .

**Definition 20.** Let A and B be  $C^*$ - algebras. A mapping  $H : A \to B$  is called a Lie Lie  $C^*$ - algebra homomorphism if

$$H([xy]) = [H(x), H(y)]$$

for all  $u, y \in A$ .

**Definition 21.** Let A and B be  $C^*$ - algebras. A mapping  $D : A \to A$  is called a Lie  $C^*$ - derivation if

$$D([xy]) = [D(x), y] + [x, D(y)]$$

for all  $u, y \in A$ .

In order to establish the stability results, throughout this section let us assume  $\mathcal{A}$  is a Lie  $C^*$ -algebra with norm  $|| \cdot ||_A$  and  $\mathcal{B}$  is a Lie  $C^*$ - algebra with norm  $|| \cdot ||_B$ .

### 5.2. Homomorphism Stability Result.

**Theorem 22.** If  $\lambda : \mathcal{A} \to \mathcal{B}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(1)

$$\|\lambda([uv]) - [\lambda(u), \lambda(v)]\|_{\mathcal{B}} \le \eta(u, v) \tag{2}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(3)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{4}$$

Then there exists a unique Lie  $C^*$ -homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi = \frac{1-\nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(5)

and the mapping  $\mathcal{H}(u)$  is defined by

$$\mathcal{H}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{6}$$

for all  $u \in \mathcal{A}$ .

*Proof.* By the proof of Theorem 5, there exists a unique homomorphism mapping  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying (5). From (2) and definition of  $\mathcal{H}$ , we achieve

$$\begin{split} \|\mathcal{H}([uv]) &= [\mathcal{H}(u), \mathcal{H}(v)] \|_{\mathcal{B}} = \frac{1}{\gamma^{2\delta}} \left\| \lambda([\gamma^{\delta} u \ \gamma^{\delta} v]) - [\lambda(\gamma^{\delta} u), \lambda(\gamma^{\delta} v)] \right\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{2\delta}} \eta(\gamma^{\delta} u, \gamma^{\delta} v) \to 0 \quad as \ \delta \to \infty. \end{split}$$

Therefore

 $\mathcal{H}([uv]) = [\mathcal{H}(u), \mathcal{H}(v)]$ 

for all  $u \in \mathcal{A}$ . Thus,  $\mathcal{H}$  is a Lie  $C^*$ - algebra homomorphism.

The following corollary is an immediate consequence of Theorem 22 concerning some stabilities of (2).

**Corollary 7.** Suppose  $\lambda : \mathcal{A} \to \mathcal{B}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\left\| \lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \right\|_{\mathcal{B}} \\ \left\| \lambda(uv) - \lambda(u) - \lambda(v) \right\|_{\mathcal{B}} \right\} \leq \begin{cases} \pi, \\ \pi \left\{ ||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi} \right\}, \\ \pi \left\| |u||_{\mathcal{A}}^{\varpi} ||v||_{\mathcal{A}}^{\varpi}, \end{cases}$$
(7)

for all  $u, v \in A$ . Then there exists a unique Lie  $C^*$ - algebra homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$ satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(8)

for all  $u \in \mathcal{A}$ .

## 5.3. Derivation Stability Result.

**Theorem 23.** If  $\lambda : \mathcal{A} \to \mathcal{A}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(9)

$$\|\lambda([uv]) - [\lambda(u)v] - [u,\lambda(v)]\|_{\mathcal{B}} \le \eta(u,v)$$
<sup>(10)</sup>

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(11)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{12}$$

Then there exists a unique Lie  $C^*$  – algebra derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi = \frac{1-\nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(13)

and the mapping  $\mathcal{D}(u)$  is defined by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{14}$$

for all  $u \in \mathcal{A}$ .

*Proof.* By the proof of Theorem 6, there exists a unique additive mapping  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying (13). Also, the mapping  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  given by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta}} \lambda(\gamma^{\delta} u)$$

for all  $u \in \mathcal{A}$ .

From (10) and by definition of  $\mathcal{D}$ , we achieve

$$\begin{split} \|\mathcal{D}([uv]) - [\mathcal{D}(u), v] - [u, \mathcal{D}(v)]\|_{\mathcal{B}} &= \frac{1}{\gamma^{2\delta}} \left\|\lambda([\gamma^{\delta}u \ \gamma^{\delta}v]) - [\lambda(\gamma^{\delta}u), \gamma^{\delta}v] - [\gamma^{\delta}u, \lambda(\gamma^{\delta}v)]\right\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{2\delta}} \eta(\gamma^{\delta}u, \gamma^{\delta}v) \to 0 \quad as \ \delta \to \infty. \end{split}$$

Therefore

 $\|\lambda(\alpha u +$ 

$$\mathcal{D}([uv]) = [\mathcal{D}(u), v] + [u, \mathcal{D}(v)]$$

for all  $u, v \in \mathcal{A}$ . Thus,  $\mathcal{D}$  is a Lie  $C^*$ - algebra derivation.

The following corollary is an immediate consequence of Theorem 23 concerning some stabilities of (2).

**Corollary 8.** Suppose  $\lambda : \mathcal{A} \to \mathcal{A}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \|_{\mathcal{B}} \|\lambda([uv]) - [\lambda(u)v] - [u, \lambda(v)]\|_{\mathcal{B}}$$

$$\left\{ \begin{array}{l} \pi, \\ \pi\{||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi}\}, \\ \pi ||u||_{\mathcal{A}}^{\varpi} ||v||_{\mathcal{A}}^{\varpi}, \end{array} \right\}$$

$$(15)$$

for all  $u, v \in A$ . Then there exists a unique Lie  $C^*$ - algebra derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$ satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & 2\varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{2\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(16)

for all  $u \in \mathcal{A}$ .

## 6. Stability Results in Jordan $C^*$ Algebras

# 6.1. $JC^*$ -Algebra Definitions.

**Definition 24.** A Jordan  $C^*$  – algebra A endowed with a anticommutator product

$$u \circ y = \frac{(xy + yx)}{2}$$

on A, is called a  $JC^*$ -algebra for all  $u, y \in A$ .

**Definition 25.** Let A and B be  $C^*$ - algebras. A mapping  $H : A \to B$  is called a  $JC^*$ -algebra homomorphism if

$$H(x \circ y) = H(x) \circ H(y)$$

for all  $u, y \in A$ .

**Definition 26.** Let A and B be  $C^*$ - algebras. A mapping  $D: A \to A$  is called a  $JC^*$ -algebra derivation if

$$D(x \circ y) = D(x) \circ y + x \circ D(y)$$

for all  $u, y \in A$ .

In order to establish the stability results, throughout this section let us assume  $\mathcal{A}$  is a  $JC^*$ -algebra with norm  $|| \cdot ||_A$  and  $\mathcal{B}$  is a  $JC^*$ - algebra with norm  $|| \cdot ||_B$ .

## 6.2. Homomorphism Stability Result.

**Theorem 27.** If  $\lambda : \mathcal{A} \to \mathcal{B}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(1)

$$\|\lambda(u \circ v) - \lambda(u) \circ \lambda(v)\|_{\mathcal{B}} \le \eta(u, v) \tag{2}$$

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(3)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta.$$
 (4)

Then there exists a unique  $JC^*$ -homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\chi = \frac{1-\nu}{2}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(5)

and the mapping  $\mathcal{H}(u)$  is defined by

$$\mathcal{H}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{6}$$

for all  $u \in \mathcal{A}$ .

*Proof.* By the proof of Theorem 5, there exists a unique homomorphism mapping  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$  satisfying (5). From (2) and definition of  $\mathcal{H}$ , we achieve

$$\begin{split} \|\mathcal{H}(u \circ v) - \mathcal{H}(u) \circ \mathcal{H}(v)\|_{\mathcal{B}} &= \frac{1}{\gamma^{2\delta}} \left\|\lambda(\gamma^{\delta} u \circ \gamma^{\delta} v) - \lambda(\gamma^{\delta} u) \circ \lambda(\gamma^{\delta} v)\right\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{2\delta}} \eta(\gamma^{\delta} u, \gamma^{\delta} v) \to 0 \quad as \ \delta \to \infty. \end{split}$$

Therefore

$$\mathcal{H}(u \circ v) = \mathcal{H}(u) \circ \mathcal{H}(v)$$

for all  $u \in \mathcal{A}$ . Thus,  $\mathcal{H}$  is a  $JC^*$ - algebra homomorphism.

The following corollary is an immediate consequence of Theorem 27 concerning some stabilities of (2).

**Corollary 9.** Suppose  $\lambda : \mathcal{A} \to \mathcal{B}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\left\| \lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \right\|_{\mathcal{B}} \\ \left\| \lambda(u \circ v) - \lambda(u) \circ \lambda(v) \right\|_{\mathcal{B}} \right\} \leq \begin{cases} \pi, \\ \pi \{ ||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi} \}, \\ \pi ||u||_{\mathcal{A}}^{\varpi} ||v||_{\mathcal{A}}^{\varpi}, \end{cases}$$
(7)

for all  $u, v \in A$ . Then there exists a unique  $JC^*$ - algebra homomorphism function  $\mathcal{H} : \mathcal{A} \to \mathcal{B}$ satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{H}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, & \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \frac{\pi}{2|\gamma-\gamma^{2\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(8)

for all  $u \in \mathcal{A}$ .

# 6.3. Derivation Stability Result.

**Theorem 28.** If  $\lambda : \mathcal{A} \to \mathcal{A}$  and  $\eta : \mathcal{A}^2 \to [0, \infty)$  are functions satisfying the double inequalities

$$\|\lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v))\|_{\mathcal{B}} \le \eta(u, v)$$
(9)

$$\|\lambda(u \circ v) - \lambda(u) \circ v - u \circ \lambda(v)\|_{\mathcal{B}} \le \eta(u, v)$$
(10)

and

$$\lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v) = 0 = \lim_{\delta \to \infty} \frac{1}{\gamma^{2\delta \nu}} \eta(\gamma^{\delta \nu} u, \gamma^{\delta \nu} v)$$
(11)

for all  $u, v \in \mathcal{A}$  where

$$\nu = \pm 1 \qquad and \qquad \gamma = \alpha + \beta. \tag{12}$$

Then there exists a unique  $JC^*$ - algebra derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \le \frac{1}{2\gamma} \sum_{\substack{\chi = \frac{1-\nu}{2}}}^{\infty} \frac{\eta(\gamma^{\chi\nu}u, \gamma^{\chi\nu}u)}{\gamma^{\chi\nu}}$$
(13)

and the mapping  $\mathcal{D}(u)$  is defined by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta \nu}} \lambda(\gamma^{\delta \nu} u) \tag{14}$$

for all  $u \in \mathcal{A}$ .

*Proof.* By the proof of Theorem 6, there exists a unique additive mapping  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying (13). Also, the mapping  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  given by

$$\mathcal{D}(u) = \lim_{\delta \to \infty} \frac{1}{\gamma^{\delta}} \lambda(\gamma^{\delta} u)$$

for all  $u \in \mathcal{A}$ .

From (10) and by definition of  $\mathcal{D}$ , we achieve

$$\begin{split} \|\mathcal{D}(u\circ v) - \mathcal{D}(u)\circ v - u\circ \mathcal{D}(v)]\|_{\mathcal{B}} &= \frac{1}{\gamma^{2\delta}} \left\|\lambda(\gamma^{\delta}u\circ\gamma^{\delta}v]) - \lambda(\gamma^{\delta}u)\circ\gamma^{\delta}v - \gamma^{\delta}u\circ\lambda(\gamma^{\delta}v)\right\|_{\mathcal{B}} \\ &\leq \frac{1}{\gamma^{2\delta}}\eta(\gamma^{\delta}u,\gamma^{\delta}v) \to 0 \quad as \ \delta \to \infty. \end{split}$$

Therefore

 $\mathcal{D}(u \circ v) = \mathcal{D}(u) \circ v + u \circ \mathcal{D}(v)$ 

for all  $u, v \in \mathcal{A}$ . Thus,  $\mathcal{D}$  is a  $JC^*$ - algebra derivation.

The following corollary is an immediate consequence of Theorem 28 concerning some stabilities of (2).

**Corollary 10.** Suppose  $\lambda : \mathcal{A} \to \mathcal{A}$  be a mapping and there exists real numbers  $\pi$  and  $\varpi$  such that

$$\left\| \lambda(\alpha u + \beta v) + \lambda(\beta u + \alpha v) - (\alpha + \beta)(\lambda(u) + \lambda(v)) \right\|_{\mathcal{B}} \\ \|\lambda(u \circ v) - \lambda(u) \circ v - u \circ \lambda(v)\|_{\mathcal{B}} \right\} \leq \begin{cases} \pi, \\ \pi \{ ||u||_{\mathcal{A}}^{\varpi} + ||v||_{\mathcal{A}}^{\varpi} \}, \\ \pi ||u||_{\mathcal{A}}^{\varpi} ||v||_{\mathcal{A}}^{\varpi}, \end{cases}$$
(15)

for all  $u, v \in A$ . Then there exists a unique  $JC^*$  – algebra derivation function  $\mathcal{D} : \mathcal{A} \to \mathcal{A}$  satisfying the functional equation (2) and

$$\|\lambda(u) - \mathcal{D}(u)\|_{\mathcal{B}} \leq \begin{cases} \frac{\pi}{2|1-\gamma|}, \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & \varpi \neq 1 \\ \frac{\pi}{2|\gamma-\gamma^{\varpi}|}, & 2\varpi \neq 1 \end{cases}$$
(16)

for all  $u \in \mathcal{A}$ .

#### References

- [1] J. Aczel and J. Dhombres, Functional Equations in Several Variables, Cambridge Univ, Press, 1989.
- T. Aoki, On the stability of the linear transformation in Banach spaces, Journal of the Mathematical Society of Japan, Vol. 2, (1950), 64-66.
- [3] M. Arunkumar, Generalized Ulam Hyers stability of derivations of a AQ functional equation, "Cubo A Mathematical Journal" dedicated to Professor Gaston M. N'Guérékata on the occasion of his 60th Birthday, Vol.15, No 01, (2013), 159-169.

- [4] M. Arunkumar, T. Namachivayam, Stability of Associations and Distributions of a Associative Functional Equation in C\*-Algebras, Proceedings of International Conference on Applied Mathematical Models, ICAMMA 2014, 285 - 289.
- [5] P. Gavruta, A generalization of the Hyers. Ulam. Rassias stability of approximately additive mappings, Journal of Mathematical Analysis and Applications, vol. 184, no. 3, (1994), 431-436.
- M. Eshaghi Gordji, M. Bavand Savadkouhi, Approximation of generalized homomorphisms in quasi-Banach algebras, 17(2), (2009), 203-214
- [7] D. H. Hyers, On the stability of the linear functional equation, Proceedings of the National Academy of Sciences of the United States of America, vol. 27, no. 4, (1941), 222-224.
- [8] Pl. Kannappan, Functional Equations and Inequalities with Applications, Springer Monographs in Mathematics, 2009.
- C. Park, Lie \*homomorphisms between Lie C\*-algebras and Lie \*derivations on Lie C\*-algebras, Journal of Mathematical Analysis and Applications, vol. 293, no. 2, (2004), 419-434.
- [10] C. Park, Homomorphisms between Lie JC\*-algebras and Cauchy-Rassias stability of Lie JC\*-algebra derivations, Journal of Lie Theory, vol. 15, no. 2, (2005), 393-414.
- [11] C. Park, Homomorphisms between Poisson JC\*-algebras, Bulletin of the Brazilian Mathematical Society, vol. 36, no. 1, (2005), 79-97.
- [12] C. Park, J. C.Hou, and S. Q. Oh, Homomorphisms between JC\*-algebras and Lie C\*-algebras, Acta Mathematica Sinica, vol. 21, no. 6, (2005), 1391-1398.
- [13] C. Park, Stability of an Euler Lagrange Rassias type additive mapping, International Journal of Applied Mathematics and Statistics, Euler's Tri - centennial Birthday Anniversary Issue in FIDA, vol. 7, (2007), 101 -111.
- [14] C. Park and J. Cui, Generalized stability of C\*-ternary quadratic mappings, Abstract and Applied Analysis, vol. 2007, Article ID 23282, 6 pages, 2007.
- [15] C. Park, Y. Cho, and M. Han, Stability of functional inequalities associated with Jordan-von Neumann type additive functional equations, Journal of Inequalities and Applications, vol. 2007, Article ID 41820, 13 pages, 2007.
- [16] C. Park and Abbas Najati, Homomorphisms and Derivations in C\*-Algebras, Hindawi Publishing Corporation Abstract and Applied Analysis, Volume 2007, Article ID 80630, 12 pages, doi:10.1155/2007/80630.
- [17] J. M. Rassias, On approximation of approximately linear mappings by linear mappings, Journal of Functional Analysis, vol. 46, no. 1, (1982), 126-130.
- [18] J. M. Rassias, On the Cauchy Ulam stability of the Jensen equation in C\*-algebras, International Journal of Pure Applied Mathematics and Statistics, vol. 2, (2005), 92-101.
- [19] John. M. Rassias, M. Arunkumar, S. Karthikeyan, Lagrange's quadratic functional equation connected with homomorphisms and derivations on Lie C\*-algebras: direct and fixed point methods, Malaya Journal of Mathematics, (2015), 228 -241.
- [20] John. M. Rassias, M. Arunkumar, S. Karthikeyan, Euler's Quadratic Functional Equation Associated to JC\*-Algebra Isomorphisms and JC\*- Algebra Derivations between JC\*-Algebras, Global Journal of Pure and Applied Mathematics, Volume 12, No. 3 (2016), 530-537.
- [21] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proceedings of the American Mathematical Society, vol. 72, no. 2, (1978), 297-300.
- [22] Th. M. Rassias, Ed., Functional Equations, Inequalities and Applications, Kluwer Academic Publishers, Dordrecht, The Netherlands, 2003.
- [23] K. Ravi and M. Arunkumar, On the Ulam Gavruta Rassias stability of the orthogonally Euler Lagrange type functional equation, International Journal of Applied Mathematics and Statistics, vol. 7, 143-156, 2007, Euler's Tri-centennial Birthday Anniversary Issue in FIDA.
- [24] L.J. Rye, S.D. Yun, Isomorphisms And Derivations In C\*-Algebras, Acta Mathematica Scientia, 31 B(1), (2011), 309-320.

- [25] M. A. Sibaha, B. Bouikhalene, and E. Elqorachi, Ulam Gavruta Rassias stability for a linear functional equation, International Journal of Applied Mathematics and Statistics, Euler's Tri-centennial Birthday Anniversary Issue in FIDA, vol. 7, (2007), 157-168.
- [26] S. M. Ulam, A Collection of Mathematical Problems, Interscience Tracts in Pure and Applied Mathematics, no. 8, Interscience Publishers, New York, NY, USA, 1960.